INSTALLATION MANUAL
VENGEANCE REAR BUMPER
PRODUCT NUMBER: E4052

APPLICATION: 2019 CHEVROLET 1500 /Eb/\

MADEGC IN THGC USA

www.4x40k.com




www.4x4o0k.com




SIN31INOJ 10 318Vv1



A MESSAGE FROM THE OWNER

Fab Fours’ was born out of a passion for customizing vehicles and a love of the outdoors. Our
engineering team uses the latest 3D design software to turn new product ideas into reality. In our
factory, designs come to life with the combination of cutting edge technology for metal cutting
and forming and an American workforce that puts its’ heart and pride into every product.

From design and manufacturing, to quality and delivery, Fab Fours’ mission is to be the market
leader for steel truck and jeep accessories. We make sure a quality product is delivered on time,
more than expected, better than expected to our customers.

Enjoy your new Fab Fours product. Welcome to the family!

Greg Higgs

FOUNDER, FAB FOURS

www.4x40k.com




GETTING STARTED

Before you begin the installation process of your new Fab Fours product, we suggest
laying out all materials and parts on a pad or protective surface.

Failure to fully account for all components before beginning installation may leave vehicle
immobile until part is acquired. Refer to the next pages as an inventory check.

0

www.4x40k.com




PROVIDED MATERIALS

LED IM HW EPOXY
Light KIT
Strip

61648 E4052-IM 50210-HW 61632

QTY:2

22205-W

22074 x2

HARDWARE KIT | 50210

FAB FOURS

IDENTIFICATION

COMPONENT
DESCRIPTION

50210-HW Plastic License Plate Nut 4
50210-HW #8 SAE Flat Washer, Stainless Steel 12
50210-HW #8-32 3/4” Button Head Cap Screw, 6
Stainless Steel
50210-HW [ #8-32 Nylock Hex Nut, Stainless Steel 6
50210-HW [ 7/16" Yellow Zinc Lock Washer, Grade 8 | 4
50210--HW | 7/16" Yellow Zinc Flat Washer, Grade 8 8
50210-HW [ 7/16"-14, Yellow Zinc Hex Nut, Grade 8 | 4
50210-HW 7/16"-14, Yellow Zinc Hex Head Bolt, Grade 8 4
50210-HW 1 3/8” Rubber Grommet 4
50210-HW 3/4" Plastic Plug 4

TOOLS REQUIRED

e 7mm socket wrench
® 13mm socket wrench
® 15mm socket wrench
e 18mm socket wrench
¢ 3/32 Allen wrench
*11/32 Socket wrench
e Flat screwdriver

¢ Body pry tool

¢ 11/16 Socket wrench
* 5/8 Socket wrench

ASSISTANCE

We recommend two people
perform the installation as items
are heavy and may need to be held

in place while installing.

ORGANIZATION

Disassemble the vehicle where you
can catalog and store everything.
We suggest labeling and bagging all
the OEM bolts when removing from
the vehicle. Failure to keep track of
parts could lead to an inability to
properly reinstall components.

www.4x40k.com




DISASSEMBLY

NOTE: Save all OEM parts until installation
is complete!

1. From under the truck unplug all wire
harnesses including sensor, keyless entry,
trailer plug and camera. (Figure 1) (Figure 2)

Figure 2

2. Use a 15mm socket wrench to remove the
outside support bracket bolt on the driver and
passenger sides. (Figure 3)

Figure 3

www.4x40k.com




3. Use a 13mm socket wrench to remove
the two bolts from behind the license plate.
(Figure 4)

4. Use an 18mm socket wrench to remove the
two (2) nuts from the mounting plate on both
the driver and passenger side. With assistance,
remove the bumper from the OEM truck.
(Figure 5)

5. With the bumper, press in the two clips on
the trailer plug and push out to remove it from
the bumper. (Figure 6)

Figure 5

Figure 6

www.4x40k.com




6. Remove the spare tire lock by pressing the
clips in and pushing out. (Figure 7)

7. If equipped, remove the blind spot sensors
from the OEM bumper using a 7mm socket
wrench to remove the two bolts. (Figure 8)

8. Use a 7mm socket wrench to remove the
sensor from its plastic casing. (Figure 9)

Figure 7

Figur 8

Figure 9

www.4x40k.com




9. Use a 7mm socket wrench to remove the
two license plate lights from the OEM bumper.
To unplug the lights, turn the connector
counterclockwise. (Figure 10)

10. To remove the four (4) sensors: Carefully
spread the housing clips and push the sensor
out of the housing (Figure 11). With the sensor
removed, press the four (4) tabs in and push the
housing out of the bumper. (Figure 12)

Figure 11

***NOTE: Label each sensor housing to insure it
is placed in the correct place when installed into
the Fab Fours bumper.***

www.4x40k.com




11. Remove the keyless entry sensor from
behind the license plate by pressing in the three
(3) clips and pushing it out. (Figure 13)

Figure 13

12. Remove the sensor harness from the
bumper by unclipping it and set it aside for later
use.

13. Install the keyless entry sensor to the
license plate bracket using zip ties. The sensors
can now be plugged in. (Figure 14)

Figure 14

11

www.4x40k.com




***NOTE: If not equipped with Blind side
sensors use the cover plates (22074) to cover
the sensor holes.***

14. Use a 3/32 allen wrench and 11/32 socket
wrench to install the blind side sensors with a
#8-32 bolt, flat washers and nylock nut (50210-

HW). (Figure 15)

Figure 15

15. Use a 3/32 allen wrench and 11/32 socket
wrench to install the license plate lights with a
#8-32 bolt, flat washers and nylock nut (50210-

HW). (Figure 16)

Figure 16

www.4x40k.com




INSTALLATION

16. Install the spare tire access key by pushing %
it through the bumper (22205) and engaging the
clips to hold it in place. (Figure 17)

Figure 17

17. Install the trailer plug by pushing it through
the bumper (22205) and use a flat screwdriver
to engage the clips on either side. (Figure 18)

Figure 18

13

www.4x40k.com




***Note: Optional steps 18-20 for alternative
mounting method for securing the trailer
receptacle plug to the bumper. Hardware is not
included for this mounting method.***

18. Insert the trailer plug receptacle to the
bumper (22205) and mark the bolt locations for
drilling. (Figure 19)

Figure 19

19. Remove the trailer plug receptacle. Using
a drill with a 7/32” drill bit, drill out the trailer
plug receptacle.

20. Using a 7mm socket wrench and the

3/32” Allen key install the trailer plug into the
bumper (22205) using four (4) #8-32 x 1.0” long
stainless-steel button head cap screws, flat
washers, and hex nuts. (hardware not provided)

www.4x40k.com




21. Install the sensor housings into the same
locations as OEM and use epoxy (61632) to lock
the housing in place. Once the epoxy is dry push
the sensors into the housing. Feed the harness
behind the mounting plates and plug the license
plate lights and blind side sensors in. (Figure 20)

Figure 20

22. If your truck is not equipped with sensors,
use the four (4) rubber grommets and plugs to
fill the sensor holes (50210-HW). (Figure 21)

Figure 21

23. With assistance, hold the bumper (22205)
up to the mounts and use a 11/16 and 5/8
socket wrench to install the bumper with the
7/16” bolts, flat and lock washers with nuts
(50210-HW). (Figure 22)

Figure 22

19

www.4x40k.com




24. Plug in all the sensor harnesses and install
the four plastic license plate nuts by pushing
them into the bumper (50210-HW). (Figure 23)

Figure 23

www.4x40k.com






